Warm Up
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What DidFl Homework Questions? ‘
Have You Ever Heard of the Planet Saturn?

(Simplify each expression. Write the letter of the answer in the box containing the exercise number.)
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Additional Practice
All work should be done in your notebook. Final answer should contain only positive exponents.

Remember: Whenever a term is raised to a negative exponent, that means you are dividing by that term to
the positive exponent. When you are dividing by a term, it gets moved to the other side of the division bar.
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Scienthic Notohon
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Scienhfic Nowtion
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Operations with Scientific Notation

B4ox0™+ |xio - 43%0

v
40 + 10 = 420 >
AAXI0"+ Jx0"= 43I0

0.2%10> + 594x10"
3
L300 + 0.59 = (20059 = L3009 *10

35 x0 + 1.2%0 = 3.%%(0
(a%l07+7xl07- 13 %10 = ISXIDg

axip® + 5x|p -

WI0°+ 0.5%10° - 2.5 %[0
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Addition and Subtraction With Scientific Notation Date Period

Simplify. Write each answer in scientific notation.

1) 3.1x10°+4.3 x 10° 2) 3x10"+ 6.4 x 10

3) 24x10*+5.57 x 10° 4) 5x107+1.6%x107°

5) 2.5x 10" + 6.14 x 10* 6) 7x10" +6.4x107°
7)5x10°+33x107° 8) 8x 107 +6.9x 10°

9) 1.39x10° -4 x 10° 10) 2.74x 10" - 6.53 x 10™*
11) 8.14 x 10° - 7.8 x 10° 12) 636 x10° - 58 x 10"

13) 5.1 x 10" + 0.38 x 10* 14) 5.9 x 107> - 0.078 x 10°



Homework

Finish classwork



